06277 inch 434 2-804B T4 | EiLE | W4

7= Gk e
Parts —

BRRENFRL,
FE , MEER PF31-DIN 7708 , B , MiZfo R4NE , K4
B,

I

REZEHIFH S,

BR:

HHFRE ZPD2R AR RN, FREHMSRE BlmmB £ 47,

BEEXK
ANAESRELBNRELENF,

| /// |
. % /
T C‘Q N B 0’)
Ql QY S
w
)
L1
_———
7
L3 _
06277-0080XCN 80 0,312 24 16 28
06277-0080XCO 80 0,375 24 16 28
06277-0100XCO 100 0,375 26 17 33
06277-0100XCP 100 0,5 26 17 33
06277-0125XCO 125 0,375 31 18 33,5
06277-0125XCP 125 0,5 31 18 33,5
06277-0160XCP 160 0,5 36 20 39
06277-0160XCQ 160 0,625 36 20 39
06277-0200XCQ 200 0,625 42 24 45
06277-0200XCR 200 0,75 42 24 45

© norelem www.norelem.com



06277 inch 8%l 2-®0HEF5% , BERSG , ZF

T#%E D1 D2 D3 L1 )
06277-0250XCR 250 0,75 48 28 51
06277-0250XCV 250 0,875 48 28 51

iTHE D3 L1 L3 =
BElEFR
06277-2080XCN 80 0,312 24 16 218 x M6 x 40
06277-2080XCO 80 0,375 24 16 28 218 x M6 x 40
06277-2100XCO 100 0,375 26 17 33 218 X M6 x 40
06277-2100XCP 100 0,5 26 17 33 218 x M6 x 40
06277-2125XCO 125 0,375 31 18 335 221 x M8 x 50
06277-2125XCP 125 0,5 31 18 335 221 x M8 x 50
06277-2160XCP 160 0,5 36 | 20 39 226 x M10 x 80
06277-2160XCQ 160 0,625 3 | 20 39 226 x M10 x 80
06277-2200XCQ 200 0,625 42 | 24 45 226 x M10 x 80
06277-2200XCR 200 0,75 42 | 24 45 226 x M10 x 80
06277-2250XCR 250 0,75 48 | 28 51 228 x M12 x 90
06277-2250XCV 250 0,875 48 | 28 51 228 x M12 x 90

06277-4080XCN 80 0,312 24 16 28 218 x M6 x 40
06277-4080XCO 80 0,375 24 16 28 218 x M6 x 40
06277-4100XCO 100 0,375 26 17 33 218 x M6 x 40
06277-4100XCP 100 0,5 26 17 33 218 x M6 x 40
06277-4125XCO 125 0,375 31 18 33,5 222 x M8 x 56
06277-4125XCP 125 0,5 31 18 33,5 222 x M8 x 56
06277-4160XCP 160 0,5 36 20 39 226 x M10 x 80
06277-4160XCQ 160 0,625 36 20 39 226 x M10 x 80
06277-4200XCQ 200 0,625 42 24 45 226 x M10 x 80
06277-4200XCR 200 0,75 42 24 45 226 x M10 x 80
06277-4250XCR 250 0,75 48 28 51 231 x M12 x 102
06277-4250XCV 250 0,875 48 28 51 231 x M12 x 102

© norelem www.norelem.com




